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Flipping Physics Lecture Notes: 
 

Conical Pendulum Demonstration and Problem 
 

Example: Two spheres attached to a horizontal support are rotating with a 
constant angular velocity. Determine the angular velocity. 
As shown in the figure: L = 9.7 cm, x = 3.4 cm and θ = 43°. 
 
Knowns: 
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According to the right hand rule, the direction of the angular velocity and angular displacement of the 
spheres is down, which is negative. 
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Use the measured value as our observed value and the predicted value as our accepted value: 
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×100 = −0.39052 ≈ −0.39%  


